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— @ 3m 7 ans1 b TIRbN
It teaches us, saying; ‘and he writes to her’, in any event

Overview

"0 "1 teaches that even though the 770 writes 190, nevertheless it includes other
things as well, since the 7170 also writes 72 2021 - as long as it is written; it does not
matter on what. *01° ' continues that we only include things that are similar to a 7190
and therefore we exclude anything which has a 2»n mn and eats.! Mmoo explains
that the P09 of 191 112 2n21 forms a %921 V9 H93.

mooINn asks:
5V993Y NNV NN YDA PN Y999 990 3HY5 22199 NNIIINY 9NN ON)

And if you will say; but let us say that 'an3v' is a %95, and o0’ is a ¥v15, and the

rule is that the %95 contains only that which is included in the w95, so one should be
able to write a v3 only on a 790!

N150IN answers:
- 75991 %1 SN WM Y

And one can say that by saying the word yn1y, the 7710 added a %> -

Mmoo responds to an anticipated difficulty:
= (3,89 97) SPWITIPT RNDP P92 JNIWUN 2133 291 NP NYDD NIN NN NYT 2) Hy 9N

And even though °01° "1 did not cite the last 975 (of 1011), only the first %95 (of 2n27),
nevertheless this is not a difficulty, for we also find something similar in the first

9D of PPRNTP NOON, where the Xn»12 states -
- P2 RPN 927 99 NP MY TATN A919) YD MY 131 YEIN NIN 29 PN Ty

! This seems like a 717 of a 9931 1721 993, where we are 7277 anything which is v7977 1v3. See later in Mmoo,
2 The oo (in X,30 [XXN] 0°127) states, "N 7722 103) DD 799 A2 202
3 A 995 or ‘general’ statement is more inclusive. The word an21 indicates that as long as one writes the 03 it is w2,
regardless of what he writes it on.
4 A vo or “detail’ is restrictive. The word 790 indicates that one may write the 3 only in a 790 (parchment).
3 The rule is that when the 770 writes a 792 (here an27) followed by a v15 (here 790), it means that we follow the 179
exclusively and we do not include or add anything more than the specified v-5.
¢ The word 101 is a 923; and he shall give her (the v3) without defining what the v3 should be.
7 We now have a (jn1) 9921 (790) v (2037) 993. The rule is that by a 9931 1791 973 we are 727» anything which is
similar to the vI9; in our case anything which is 7218 1°R1 211 M1 12 PR. See footnote # 1.
8 See ‘Thinking it over’.
% The 09 (in 7,10 [AR7] ©°727) states, "N X2 7ANI) Y¥I©7 DX ATRY), regarding an *12y 72 who wants to remain past
his seven years of servitude; that the master has to bore a hole in his ear. The Xn92 is deriving that one may use other
means besides a ¥¥7n to bore this hole.
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‘It says in the 770 the word px9» (awl), I would only know yx9», from where do
we derive to include the 770 (peg), etc., the 7105 teaches by saying nrpvy (and you

shall take), anything which can be taken in the hand’. This concludes the xn>>12 -
= NIN2 X5DD N§»H22 90210 NDY

But the Xn>12 does not cite the last %92 (only the first %95 of nrp) -
$9999 91N 1IN 11N 10997 XP DD VYD) HUIT NN DNNT NINDI)

However in the X°3'0 there it is evident that we are expounding a %31 v 91 %53;

that with the words of 121 12182 nnaY' the 770 repeats another »#3 (in order to include
other items besides a ¥x7n).

Summary
Sometimes they will omit mentioning the last 775 even though it is a 5921 1191 H92.

Thinking it over
How is a question (such as why are we not mentioning the last 973) resolved,'? by
showing that this same problem exists elsewhere?!

10 We see from there that even though it is obvious from the X7n3 that we are expounding a 9931 vI91 993, and
nevertheless the Xn»"2 failed to mention the last 993; we can say the same here that even though the last 973 is not
mentioned explicitly, nevertheless the Xn>>12 here is basing its 7%°7 on a 9221 1191 9.

"1t would seem that the last 993 is [12182] nn. See the X723 there and the marginal note in 0"w7 NMoA.

12 See footnote # 8.
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